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INTRODUCTORY MICROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. NS TN FGZ TIYNG 251 07 I 1
Candidates should answer in their own words oA TPl [eed CIFIF TR TG SHANT N
and adhere to the word limit as practicable. Bex PRI/
1; Answer any six questions from the following: 2x6=12
i @-@I 2afb efvea Tea wis:

(a) What is the relationship between total utility and marginal utility?
i Szt 8 eiifew oo W = F 2

(b) What is budget line?
st @4 & 9

(c) What is meant by transfer earning of a factor?
TAIRICTA ZIAIE S 510 et 9

(d) Define marginal cost.
2T Yo FRe TS|

(e) What is meant by cross price elasticity of demand?
SifEa s Wi FEfegerre! 3@rs [ @ ¢

(f) What is consumer’s surplus?
corea Tye fF ¢

(g) Mention the features of an oligopoly market.

festiolfer A FErefE Sra st

(h) State the relationship between Average revenue, Marginal revenue and Price
elasticity of demand.

1S W, 2 B Bk i ool Ty 7o Srard e
(i) What is meant by Constant Returns to Scale?

N Wt efewie e F @i ¢
(j) Distinguish between Gross Profit and Net Profit.

G ! @ o AP Wy 21 et s
(k) State the characteristics of a monopoly market.

GFHH ATED @REel Srad @l
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(1) What is the shape of average fixed cost curve?

o1 Faz I @E e et 9

2. Answer any two questions from the following: 4x2=38
formferie @it 76 efvea Tea mes

(a) Explain briefly the ‘shut-down point’ in Perfect Competition with the help of a
diagram.

Boaa i 7 eferior AT Sea aea R FReeet Al Sl
(b) How can you measure the power of a monopoly firm?
9B Test efeBicTm @bl we! [Feica sAfma $403 2
(¢) Describe the assumptions of Marginal Productivity Theory of Distribution.
(a2l T Teoimeierol STgA SN & Dl Sl
(d) Discuss the factors affecting the price elasticity of demand.

wifzwi v Efezrieel M Reanef sewa s

3. Answer any three questions from the following: 10x3 =30
ferfeie @-ia foafe aivds Ted we:
(a) What do you mean by income effect and substitution effect? Distinguish between 4+6

‘change in demand’ and ‘change in quantity demanded’.
W 2o @ SRR der e @il ¢ BifRwR AReeT e siftwm e
SARASTTR W4y 2Nl AT e
(b) Discuss the Loanable Fund Theory of Interest. 10
sy fdfaret ‘et w2fe o b Sl el
(c) Why is the short-run average cost curve of a firm U-shaped? 10

B I A SIG-T7 @ U- FFISq 2 & 2

(d) What are the features of a perfectly competitive market? Discuss the long-run 3+7
equilibrium of a competitive firm.

ﬁ-mmmﬁﬁﬁ?@mwwm
AL S|

(e) What are the characteristics of Indifference Curve? Define an Inferior good. Is 442+4
there any difference between Inferior good and Giffen good?

forrer @ g e & [ o fips wea kel we ) figt w3 ¢ ficew aws v &
I AT MR 2

(f) Explain the relationship between Total Product (TP), Average Product (AP) and
Marginal Product (MP) of a firm.

@ FIH I B (TP), 18 TeAl (AP) '@ &lifE 510 Teoiwa (MP) -7 34
o0 I FCA
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